Apartment in Sliema



Reference No: 240531001-97

Sliema, Sliema and St Julians Surroundings



€950,000

Total Rooms: 10

Bathrooms: 3

Floor Area (m²): **240**

Bedrooms: 3

Apartment - For Sale - Sliema

Sliema - A spacious 240 SQM apartment just a few meters from the Sliema seafront. This home features a fully equipped kitchen with distant sea views, a living and dining area leading to both a traditional Maltese closed balcony and an open balcony. It offers three double bedrooms, each with its own en suite shower and balcony. Additionally, there is a box room, a laundry area, and an office space. The property also includes two car spaces located within the same block. Contact us today to view this beautiful property.

Features

- Kitchen/Dinette
- En Suite
- Balcony

- Ceramic Floor
- Double Glazed

Rooms

- Living/Dining: 6.8 x 7.3 m (49.64 m2)
- Kitchen: 4.4 x 2.8 m (12.32 m2)
- ✓ Double Bedroom : 5.4 x 3.8 m (20.52 m2)
- Double Bedroom : 4.6 x 3.5 m (16.1 m2)
- Double Bedroom : 5.3 x 3.3 m (17.49 m2)
- Shower Ensuite : 1.8 x 2.6 m (4.68 m2)
- Shower Ensuite : 2.1 x 2.8 m (5.88 m2)
- Shower Ensuite : 2.1 x 2.8 m (5.88 m2)
- Office / Study : 5.2 x 3.7 m (19.24 m2)
- Laundry: 1.7 x 1.1 m (1.87 m2)

Gallery































RE/MAX Finest

RE/MAX Finest - Sliema

M: 22471331

E: fin@remax.com.mt

T: 22471331

RE/MAX Finest - Sliema

RE/MAX Finest,143 Tower Road, Sliema, Malta